Review
p. 320: 3, 6, 12-15, 18, 20, 21, 24, 26

#2 QGiven: AC 2 AE
4080 Z AEFD D

i

A
Prove: xBDC = xFDE .
. Ac 2 AE 1. Given
% éGiven
2. XCBD ZX EFD 2.
3. ¥C 2 4€ 3 1H& > A
| - 4+ No Choce Th

4. XBDC = ¥FPE

#6 The measwes of the ang\es of o quad-:}‘aﬁzﬂ
are 40,70, 130, hnd +he measSure of c

3460-40-70-130 :_@

2 n extenor anglc of a reju a
Hi 14 the measuré of a
palggon is 1<, how Mang sides does the polggﬂ\ "‘0\";

\S = 260

m

h= 24

#13 \f a polygon has 33 sides,what 1S

180(33-2)
a. The cum of the measures of the |8’Di$l)

ang'es 5540

b. The Sum of +he measures of the exteriol 15, 340
one per vertex, of the polyqon



#14 The Sum of the measures of the angles of o polygon
¢ 1620. Find the numger oF sides

1b20 = 1 $0(n-2)
q=n-2

#$1S Jind the numper of dA‘agonals at can be drawn in a pentadecagon

#of - 15(16-3)
dlaq 2
= Iigz)
2
= lac

L1172 The measure of one of the angles of a right triangle is five times the measure of another angle of
the triangle. What are the possible values of the measure of the second largest angle.

X +6x = a0 Sx =90
g bx =90 X8 X=18
i =1 G x mx2 {72’
mx2=506¢) — a0 '}

!‘ -,go;

#20 Given: Ké = AC
XDBC ¥ XDCA
m&zA =50

Find: m 3BDC

ZABC + <ACB = 130
XABC = 3ACB = 65

o m ¥X0D =18 16S = e’



#21

Tell whether each statement is true Always, Sometimes, or Never

a. An equiangular triangle is isosceles A

b. The number of diagonals in a polygon is the same as the number of sides S

c. An exterior angle of a triangle is larger in measure than any angle of a triangle S

d. One of the base angles of an isosceles triangle has a measure greater than that of one of the
exterior angles of the triangle NJ

$24 The measure of an angle of an equiangular polygon exceeds four times the measure of one of the
polygon’s exterior angle by 30. What is the name of the polygon.

mty= X x = 4(180-X) +30
exty= 1€0-X X = 720-4X + 30
Sx=160
Xx =180
- e ; - 2___0
ext X = 30 o -

n=12 Dodemg on

H2e Show that h= -%»(b%—d\

h=b+e (ext %)

xArGa=h (byNo CHOVCE)
xape = x€FD (by V-A)
h= x€EFD (transihve) g

d=hte so e=d-h (ext. X)
h = b‘\'d'tﬂ (SuBSﬁ\'\Ah‘””)

+h +

2h = b+d

2 2

—

\h: Jicla\-d)




